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ljBfyL{ ;]6 s 

lgbfgfTds k/LIff 

 

sIff M ^           ljifo M lj1fg tyf k|ljlw 

 

Group 'A' 

tnsf k|Zgsf] pko'St ljsNkdf l7s -√_ lrx\g nufpg'xf];\ .  Tick -√_ the correct alternative for 

the given questions.       (151=15) 

1. pv' k]Ng k|of]u ul/g] k/Dk/fut k|ljlw s'g xf] < Which is the traditional technology used to 

extract juice from sugarcane?  
 

A. l9sL Dhiki  

B. hfFtf] Janto 

C. sf]n Kol 

D. 36\6 Ghatta 

 

2. ljgLtfn] cgnfOg dfWodaf6 Pp6f 8«]; lsGg rflxg\ . pgn] tnsf dWo] s'g ;~rf/ k|ljlwsf] 

k|of]u ug'{ pko'St xf]nf < Binita wants to buy a dress through online medium. Which of the 

following means of communication is appropriate to use for her?  

 

A. 6]lnlehg Television 

B. /]l8of ] Radio 

C. lr7L Letter 

D. OG6/g]6 Internet 

 

3. dfOj|mf];ˆ6 PS;]ndf A6 n]] s] hgfpF5 < What do A6 represent in Microsoft Excel ?    

  

A. /f] / sf]nd Row and column 

B. sf]nd / 5}6f}F /f] Column and sixth row 

C. klxnf] sf]nd / 5}6f}F /f] First column and sixth row 

D. klxnf] /f] / 5}6f}F sf]nd  First row and sixth column 

  

 ljBfyL{sf] gfd M  ==============================================================================================================  

 ljBfnosf] gfd M  ==================================================================== lhNnf M ======================= 

 tkfO{F M 5fq     5fqf        :yfgLo tx M ========================================= 
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4. lbOPsf dWo] d]?b08 gePsf] hgfj/ s'g xf] < Which of the following is an invertebrate 

animal ?     

A.   B.   C.   D.   

5. xl/of] la?jfnfO{ lsg pTkfbs elgG5 < Why is green plant called producer?  

 

A. cfkm\gf] nflu dfq vfgf agfpg] ePsfn] As it produces food for itself only 

B. kftdf Snf]/f]lkmn x'g] ePsfn ] As it contains chlorophyll in its leaves 

C. k|sfz ;+Zn]if0f k|lj|mof ug{ g;Sg] ePsfn] As it cannot perform photosynthesis process 

D. ;a} hgfj/x¿n] xl/of] la?jf vfg] ePsfn ] As all animals eat green plants 

 

6. cFWof/f] sf]7fdf pd|]sf] la?jfsf] kft kxF]nf] b]lvg'sf] sf/0f s] xf] < What is the cause of 

yellowing of leaf in a plant grown in dark room?  

 

A. sfa{g 8fOcS;fO8sf] cg'kl:yltn]  Due to the absence of Carbon dioxide 

B. ;"o{sf] k|sfzsf] cg'kl:yltn ] Due to the absence of sunlight 

C. kfgLsf] cg'kl:yltn]  Due to the absence of water 

D. clS;hgsf] cg'kl:yltn] Due to the absence of Oxygen 

 

7. kfrg u|lGyx¿n] /fd|/L sfd gubf{ JolSt b'Anfpg'sf] sf/0f s] xf] < What is the reason for 

being a person thinner when his/her digestive glands do not work properly? 
 

A. lsgls kfrg OGhfOdx¿sf] cefjn] vfgf kRg ;Sb}g . Because of lack of digestive 

enzymes food cannot be digested properly. 

B. lsgls af];f] pTkfbg x'Fb}g . Because digestive gland cannot produce fat in body. 

C. lsgls z/L/nfO{ df]6f] agfpg] h'; pTkfbg xF'b}g . Because digestive gland cannot 

produce juice to make body fat. 

D. lsgls k|f]l6g krfpg] u|lGy x'Fb}g . Because there is no gland for digesting protein. 

 

8. j:t'sf] cfsf/ jf :yfg kl/jt{gsf] sf/0f pTkGg x'g] zlSt s'g xf] < Which energy is 

produced due to change in size or position of an object ?  

 

A. Wjlg zlSt Sound energy 

B. l:ylt zlSt Potential energy 

C. r'DasLo zlSt Magnetic energy 

D. tfk zlSt Heat energy 

 



3 
 

9. a/kmnfO{ /]lk|mh/]6/af6 aflx/ lgsfNbf klUng'sf] sf/0f s] xf] < Why does ice melt when it is 

taken out of the refrigerator?  
 

A. a/kmn] tfkzlSt 5f]8\g] ePsfn] Because ice releases heat 

B. a/kmn] tfkzlSt lng] ePsfn] Because ice absorbs heat 

C. a/kmsf] tfkzlSt 36\g] ePsfn] . Because heat energy of ice decreases 

D. a/kmsf] tfkzlSt kl/jt{g gx'g] ePsfn] . Because heat energy of ice does not change 

 

10. tn lbOPsf dWo] s'g egfO ansf] :yfgfGt/0f;Fu ;DalGwt 5 < Which of the following 

statements is related to transfer of force? 

 

A. Rffndf /x]sf] j:t'nfO{ /f]Sg' To bring a moving body into rest 

B. Rfln/x]sf] j:t'sf] ultdf kl/jt{g ug' { To change speed of a moving body 

C. Jf:t'sf] cfsf/nfO{ kl/jt{g ug' { To change size of a body 

D. ;fa]n tyf sf]bfnfsf] laF8df an nufO{ v]t vGg tof/ x'g' To be ready to dig land 

applying force on handle of Shovel and Spade 

 

11. k[YjLsf] DofG6n txdf wft'x¿ lsg klUnPsf] cj:yfdf x'G5g\ < Why do metals found in 

molten state on mantle layer of earth? 

  

A. pRr rfksf sf/0fn ] Because of high pressure 

B. pRr tfkj|mdsf sf/0fn] Because of high temperature 

C. pRr tfkj|md / rfksf sf/0fn] Because of high temperature and pressure 

D. Go""g rfksf sf/0fn] Because of low pressure 

 

12. lrgLsf] /f;folgs gfd s] xf] < What is the chemical name of sugar?  

 

A. Un'sf]h Glucose 

B. NofS6f]h Lactose 

C. k|m'S6f]h Fructose 

D. ;'j|mf]h Sucrose 

 

13. tn lbOPsf dWo] wft'af6 tf/ agfpg] u'0f j'mg xf] < Which of the following property is 

related with drawing wire from metal?  

 

A. sG8lS6le6L Conductivity 

B. 8lS6ln6L Ductility 

C. d]lnPlaln6L Malleability 

D. /]l;l:6le6L Resistivity 
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14. g'gkfgLsf] 3f]naf6 g'g 5'6\ofpg s'g ljlw pko'St x'G5 < Which method is suitable to 

separate salt from salt solution?  

 

A. lyu|fpg] Sedimentation 

B. 5fGg] Filtration 

C. jfikLs/0f Evaporation 

D. lgyfg]{ Decantation 

 

15. tnsf dWo] wft'x¿sf] ;d"x s'g xf] < Which of the following is the group of metals? 

 

A. tfdf, rfFbL, uGws, l;lnsg  Copper, silver, sulfur, silicon 

B. tfdf, uGws, ;'g, l;lnsg  Copper, Sulfur, gold, silicon 

C. tfdf, kmnfd, uGws, l;lnsg  Copper, Iron, sulfur, silicon 

D. tfdf, kmnfd, rfFbL, ;'g Copper, Iron, silver, gold 

Group B 

 tnsf k|Zgsf] pQ/ lbg'xf];\ . Answer the following questions. 

1. r/f h:t} p8\g] eP tfklg rd]/f]nfO{ :tgwf/L ;d"xdf /flvg'sf] Pp6f sf/0f n]Vg'xf];\ . Give 

a reason behind classifying a bat as mammal although it flies like a bird.  (1) 

………………………………………………………………………………….……

…………………...……………………………………………………….……………

…………………………………………………………………… 

 

2. s'g} jftfj/0fdf /x]sf ;hLj / lghL{jlarsf] cGt/;DaGwnfO{ s] elgG5 < What is the 

interrelationship between living and non-living things in an environment called ? (1) 

……………………………………………………………………………………

……………………...…………………………………………… 

3. lrqdf Pp6f kmnfdsf] lsnfnfO{ s'rfnsn] 9fs]sf] 

;'rfns tf/n] s]xL kmGsf a]/]/ o;sf b'O{ 5]p Pp6f 

;]n -Aof6«L_ ;Fu hf]8]sf] b]vfOPsf] 5 . o;f] ubf{ 

kmnfdsf] lsnfdf s:tf] kl/jt{g b]lvG5 xf]nf < o; 

k|of]udf x'g] zlStsf] ¿kfGt/ rf6{dfkm{t b]vfpg'xf];\ . 

The given figure shows, an iron nail is wounded with 

some turns by an insulated conductor wire and its two 

ends are connected to a cell (battery). What change 

occurs in iron nail in such a condition? Illustrate in a 

chart for transformation of energy in this experiment.    
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         (2) 

……………………………………………………………………………………

……………………...……………………………………………………………

…………………………………………………………………… 

4. 8«fO ;]ndf s'g k|sf/sf] zlSt ;l~rt /x]sf] x'G5 < What type of energy is stored in a dry 

cell?          (1) 

 

…………………………...………………………………………………………

………………………………………………………………………… 

 

5. xfd|f] b}lgs hLjgdf ;/n oGqsf s'g} b'O{ pkof]lutf n]Vg'xf];\ .  Write any two uses of simple 

machine in our daily life.       (2) 

……………………………………………………………………………………

……………………...……………………………………………………………

…………………………………………………………………… 

        

6. df6f] ;+/If0f ug{' lsg cfjZos 5 < s'g} Ps sf/0f n]Vg'xf];\ . Why soil conservation is 

necessary? Write one reason.        (1) 

 

……………………………………………………………………………………

……………………...……………………………………………………………

…………………………………………………………………… 

7. lbOPsf] vfnL 7fpF eg'{xf];\ . Fill in the gaps given below.    (2) 

 

         

 

a/km Ice 
 ………………?? 

jfikLs/0f 

Evaporation 

kfgL Water 

 

...................??  


